# BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 17
HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539
CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS
FEBRUARY 27, 2025
LIA ENGINEERING, INC.
E. MURPHY
FEBRUARY 28, 2025
0390-2472 (9.2)

BIDDER NAME	BASE BID
1) DURWOOD GREENE CONSTRUCTION CO.	\$1,127,448.25
2) PRECISE SERVICES INC.	\$1,225,324.00
3) RESHA CORPORATION	\$1,240,961.60
4) R CONSTRUCTION CIVIL, LLC	\$1,289,151.00
5) DACO PAVING, INC.	\$1,328,000.00
6) BEYER CONSTRUCTION, LLC	\$1,474,450.25

CALENDAR DAYS - 55/65



I, Christina Sison, PE, hereby certify these bid tabulations to be true and correct.

# BID TABULATION FOR:

# CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS FEBRUARY 27, 2025 LIA ENGINEERING, INC. E. MURPHY FEBRUARY 28, 2025 0390-2472 (9.2)

				1) DURWOOD GREENE CONSTRUCTION CO.		2) PRECISE	2) PRECISE SERVICES INC.		3) RESHA CORPORATION		4) R CONSTRUCTION CIVIL, LLC	
						_,		3,123,133,133		,		
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
	ITEMS FOR ANNISTON SECTION 17  ROADWAY AND LOT EXCAVATION, INCLUDING STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	12745	\$2.00	\$25,490.00	\$2.75	\$35,048.75	\$3.10	\$39,509.50	\$3.00	\$38,235.00	
2	ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION, COMPLETE IN PLACE	CY	12745	\$2.00	\$25,490.00	\$2.75	\$35,048.75	\$3.10	\$39,509.50	\$4.00	\$50,980.00	
3	6" REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	12485	\$48.50	\$605,522.50	\$48.75	\$608,643.75	\$55.80	\$696,663.00	\$53.00	\$661,705.00	
4	6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	14087	\$3.50	\$49,304.50	\$4.80	\$67,617.60	\$4.70	\$66,208.90	\$7.00	\$98,609.00	
5	HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	115	\$220.00	\$25,300.00	\$345.00	\$39,675.00	\$387.00	\$44,505.00	\$330.00	\$37,950.00	
6	FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	267	\$140.00	\$37,380.00	\$135.00	\$36,045.00	\$167.45	\$44,709.15	\$140.00	\$37,380.00	
7	6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2258	\$3.75	\$8,467.50	\$4.35	\$9,822.30	\$3.50	\$7,903.00	\$4.00	\$9,032.00	
8	4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4969	\$3.75	\$18,633.75	\$4.35	\$21,615.15	\$4.00	\$19,876.00	\$4.00	\$19,876.00	
9	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$13,200.00	\$13,200.00	\$13,000.00	\$13,000.00	\$1,000.00	\$1,000.00	\$11,000.00	\$11,000.00	
10	TYPE 7 ADA RAMPS, COMPLETE IN PLACE	EA	8	\$1,600.00	\$12,800.00	\$1,850.00	\$14,800.00	\$1,350.00	\$10,800.00	\$2,000.00	\$16,000.00	
11	PROPOSED TYPE III BARRICADE, WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE	EA	2	\$1,500.00	\$3,000.00	\$1,400.00	\$2,800.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00	
12	REMOVAL AND DISPOSAL OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$10.00	\$10.00	\$100.00	\$100.00	\$150.00	\$150.00	\$1.00	\$1.00	
13	PAVEMENT HEADER, COMPLETE IN PLACE	LF	56	\$10.00	\$560.00	\$20.00	\$1,120.00	\$10.00	\$560.00	\$35.00	\$1,960.00	
14	DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	8	\$20.00	\$160.00	\$18.00	\$144.00	\$15.00	\$120.00	\$15.00	\$120.00	
15	FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$12,000.00	\$12,000.00	\$18,500.00	\$18,500.00	\$15,000.00	\$15,000.00	\$21,000.00	\$21,000.00	
SUBTO	AL PAVING ITEMS FOR ANNISTON SECTION 17			-	\$837,318.25	-	\$903,980.30	<del>-</del>	\$988,514.05	_	\$1,006,248.00	
	OCKLEY ROAD LEFT TURN LANE ITEMS ROADWAY EXCAVATION, INCLUDING STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	693	\$20.00	\$13,860.00	\$2.75	\$1,905.75	\$16.50	\$11,434.50	\$5.00	\$3,465.00	
2	ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION, COMPLETE IN PLACE	СУ	693	\$20.00	\$13,860.00	\$2.75	\$1,905.75	\$16.50	\$11,434.50	\$5.00	\$3,465.00	
3	2" HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT, INCLUDES MILLING OF EXISTING PAVEMENT AND TACK COAT, COMPLETE IN PLACE	SY	1673	\$28.00	\$46,844.00	\$41.50	\$69,429.50	\$45.25	\$75,703.25	\$26.00	\$43,498.00	
4	2" HOT MIX ASPHALTIC CONCRETE, COMPLETE IN PLACE	SY	935	\$28.00	\$26,180.00	\$30.00	\$28,050.00	\$45.50	\$42,542.50	\$26.00	\$24,3 <del>1</del> 2,000-138	

LJA Engineering, Inc.

# CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 17

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS FEBRUARY 27, 2025 LIA ENGINEERING, INC. E. MURPHY FEBRUARY 28, 2025

0390-2472 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

			ı	1) DURWOOD GREENE CONSTRUCTION CO.		2) PRECISE SERVICES INC.		2) DECHA CO	3) RESHA CORPORATION		4) R CONSTRUCTION CIVIL, LLC	
				1) DORWOOD GREENE CONSTRUCTION CO.		2) PRECISE SERVICES INC.		SJ NESHA CC	5) RESHA CORPORATION		HOW CIVIL, LLC	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
5	. 10" BLACK BASE, COMPLETE IN PLACE	SY	935	\$80.00	\$74,800.00	\$120.00	\$112,200.00	\$45.00	\$42,075.00	\$84.00	\$78,540.00	
6	. 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	1092	\$17.00	\$18,564.00	\$4.80	\$5,241.60	\$13.20	\$14,414.40	\$7.00	\$7,644.00	
7	. HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	9	\$220.00	\$1,980.00	\$345.00	\$3,105.00	\$300.00	\$2,700.00	\$330.00	\$2,970.00	
8	FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	21	\$140.00	\$2,940.00	\$135.00	\$2,835.00	\$130.00	\$2,730.00	\$140.00	\$2,940.00	
9	. 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	86	\$180.00	\$15,480.00	\$175.00	\$15,050.00	\$105.00	\$9,030.00	\$160.00	\$13,760.00	
10	. SAFETY-END-TREATMENT FOR 30" CULVERT, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	2	\$2,700.00	\$5,400.00	\$2,800.00	\$5,600.00	\$2,500.00	\$5,000.00	\$1,900.00	\$3,800.00	
11	STANDARD PRECAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	\$1,000.00	\$1,000.00	\$2,600.00	\$2,600.00	
12	PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$9,000.00	\$9,000.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	\$8,600.00	\$8,600.00	
13	. ALL REQUIRED CONSTRUCTION PERMITS, COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00	\$1,500.00	\$1,500.00	\$25,000.00	\$25,000.00	
14	REGRADING OF EXISTING DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE	LF	625	\$18.00	\$11,250.00	\$19.50	\$12,187.50	\$20.00	\$12,500.00	\$5.00	\$3,125.00	
15	. HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE	AC	1	\$1,600.00	\$1,600.00	\$2,450.00	\$2,450.00	\$4,356.00	\$4,356.00	\$1,500.00	\$1,500.00	
16	. TRENCH SAFETY, COMPLETE IN PLACE	LF	86	\$2.00	\$172.00	\$0.10	\$8.60	\$0.90	\$77.40	\$1.00	\$86.00	
SUBTO	AL KATY HOCKLEY ROAD LEFT TURN LANE ITEMS				\$250,930.00	-	\$282,968.70	_	\$237,497.55	_	\$225,303.00	
	LANEOUS ITEMS  ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	í	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	\$350.00	
2	EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$50.00	\$5,000.00	
3	AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, AND LOT CORNERS (88 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$4,000.00	\$4,000.00	\$8,000.00	\$8,000.00	\$1,000.00	\$1,000.00	\$5,000.00	\$5,000.00	
4	. TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$25,200.00	\$25,200.00	\$6,750.00	\$6,750.00	\$1,000.00	\$1,000.00	\$11,000.00	\$11,000.00	
5	CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	

FRN F-1386

LJA Engineering, Inc.

# BID TABULATION FOR:

# CONSTRUCTION OF THE PAVING & APPURTENANCES TO SERVE ANNISTON SECTION 17

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS FEBRUARY 27, 2025 LIA ENGINEERING, INC. E. MURPHY FEBRUARY 28, 2025 0390-2472 (9.2)

			1) DURWOOD GREENE CONSTRUCTION CO.		2) PRECISE SERVICES INC.		3) RESHA CORPORATION		4) R CONSTRUCTION CIVIL, LLC	
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$1,500.00		\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00	\$1,300.00	\$1,300.00
7. EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED BY T ENGINEER), COMPLETE IN PLACE	HE LS	1	\$100.00	\$100.00	\$700.00	\$700.00	\$500.00	\$500.00	\$700.00	\$700.00
8. EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTED B THE ENGINEER), COMPLETE IN PLACE	Y LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
<ol><li>EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED OF AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE</li></ol>	ILY EA	50	\$6.00	\$300.00	\$6.00	\$300.00	\$5.00	\$250.00	\$6.00	\$300.00
10. EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$2.00	\$200.00
11. EXTRA HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$2,400.00	\$2,400.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
12. EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONL AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	Y AC	1	\$650.00	\$650.00	\$1,200.00	\$1,200.00	\$650.00	\$650.00	\$650.00	\$650.00
13. 7'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	ON EA	1	\$400.00	\$400.00	\$1,600.00	\$1,600.00	\$700.00	\$700.00	\$4,600.00	\$4,600.00
14. 10'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD) COMPLETE IN PLACE	EA ,	1	\$400.00	\$400,00	\$2,100.00	\$2,100.00	\$900.00	\$900.00	\$4,700.00	\$4,700.00
15. 13'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD) COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$2,550.00	\$2,550.00	\$1,100.00	\$1,100.00	\$6,800.00	\$6,800.00
16. 15'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD) COMPLETE IN PLACE	EA,	1	\$600.00	\$600.00	\$2,875.00	\$2,875.00	\$1,300.00	\$1,300.00	\$6,900.00	\$6,900.00
17. 18'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD) COMPLETE IN PLACE	, EA	1	\$600.00	\$600.00	\$3,350.00	\$3,350.00	\$1,500.00	\$1,500.00	\$7,000.00	\$7,000.00
SUBTOTAL MISCELLANEOUS ITEMS				\$39,200.00	-	\$38,375.00	-	\$14,950.00	_	\$57,600.00
BID SUMMARY										
PAVING ITEMS FOR ANNISTON SECTION 17				\$837,318.25		\$903,980.30		\$988,514.05		\$1,006,248.00
KATY HOCKLEY ROAD LEFT TURN LANE ITEMS				\$250,930.00		\$282,968.70		\$237,497.55		\$225,303.00
MISCELLANEOUS ITEMS				\$39,200.00		\$38,375.00		\$14,950.00		\$57,600.00
TOTAL AMOUNT BASE BID				\$1,127,448.25		\$1,225,324.00		\$1,240,961.60		\$1,289,151.00

FRN F-1386

LJA Engineering, Inc.

5) DACO PAVING. INC. 6) BEYER CONSTRUCTION. LLC

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS FEBRUARY 27, 2025 LIA ENGINEERING, INC. E. MURPHY FEBRUARY 28, 2025 0390-2472 (9.2)

			5) DACO F	PAVING, INC.	6) BEYER CONS	6) BEYER CONSTRUCTION, LLC		
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL		
PAVING ITEMS FOR ANNISTON SECTION 17  1. ROADWAY AND LOT EXCAVATION, INCLUDING STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	CY	12745	\$3.25	\$41,421.25	\$3.50	\$44,607.50		
<ol><li>ROADWAY AND LOT EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION, COMPLETE IN PLACE</li></ol>	СҮ	12745	\$2.20	\$28,039.00	\$3.50	\$44,607.50		
3. 6" REINFORCED CONCRETE PAVEMENT, MIN. 3,000 PSI COMPRESSIVE STRENGTH, COMPLETE IN PLACE	SY	12485	\$49.00	\$611,765.00	\$52.50	\$655,462.50		
4. 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	14087	\$3.40	\$47,895.80	\$3.50	\$49,304.50		
<ol> <li>HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE</li> </ol>	) TON	115	\$365.00	\$41,975.00	\$350.00	\$40,250.00		
<ol><li>FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE</li></ol>	. TON	267	\$155.00	\$41,385.00	\$125.00	\$33,375.00		
7. 6" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	2258	\$4.20	\$9,483.60	\$4.95	\$11,177.10		
8. 4" X 12" REINFORCED CONCRETE CURB, COMPLETE IN PLACE	LF	4969	\$4.20	\$20,869.80	\$4.95	\$24,596.55		
<ol> <li>PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE</li> </ol>	, LS	1	\$4,200.00	\$4,200.00	\$14,000.00	\$14,000.00		
10. TYPE 7 ADA RAMPS, COMPLETE IN PLACE	EA	8	\$1,450.00	\$11,600.00	\$1,550.00	\$12,400.00		
11. PROPOSED TYPE III BARRICADE, WITH LOAD TRANSFER DEVICE, COMPLETE IN PLACE	EA	2	\$1,400.00	\$2,800.00	\$1,550.00	\$3,100.00		
12. REMOVAL AND DISPOSAL OF TYPE III BARRICADE, COMPLETE IN PLACE	EA	1	\$1.00	\$1.00	\$50.00	\$50.00		
13. PAVEMENT HEADER, COMPLETE IN PLACE	LF	56	\$17.00	\$952.00	\$50.00	\$2,800.00		
14. DOUBLE REFLECTORIZED BLUE FIRE HYDRANT BUTTONS, COMPLETE IN PLACE	EA	8	\$16.00	\$128.00	\$8.00	\$64.00		
15. FINAL LOT GRADING, COMPLETE IN PLACE	LS	1	\$15,000.00	\$15,000.00	\$34,000.00	\$34,000.00		
SUBTOTAL PAVING ITEMS FOR ANNISTON SECTION 17			-	\$877,515.45	<del></del>	\$969,794.65		
KATY HOCKLEY ROAD LEFT TURN LANE ITEMS  1. ROADWAY EXCAVATION, INCLUDING STRIPPINGS, STOCKPILING OF STRIPPINGS, AND REAPPLICATION OF STRIPPINGS, COMPLETE IN PLACE	СУ	693	\$33.00	\$22,869.00	\$12.00	\$8,316.00		
<ol> <li>ROADWAY EMBANKMENT, INCLUDES STRIPPINGS, STOCKPILING OF STRIPPINGS, COMPACTION TO 95% STANDARD PROCTOR DENSITY, FINAL GRADING AND REAPPLICATION, COMPLETE IN PLACE</li> </ol>	СУ	693	\$33.00	\$22,869.00	\$12.00	\$8,316.00		
3. 2" HOT MIX ASPHALTIC CONCRETE OVER EXISTING PAVEMENT, INCLUDES MILLING OF EXISTING PAVEMENT AND TACK COAT, COMPLETE IN PLACE	SY	1673	\$38.25	\$63,992.25	\$54.00	\$90,342.00		
4. 2" HOT MIX ASPHALTIC CONCRETE, COMPLETE IN PLACE	SY	935	\$34.00	\$31,790.00	\$49.00	\$45,815.00		

FRN F-1386

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS FEBRUARY 27, 2025 LIA ENGINEERING, INC. E. MURPHY FEBRUARY 28, 2025 0390-2472 (9.2)

				5) DACO P	AVING, INC.	6) BEYER CONSTRUCTION, LLC	
				T			
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
5	. 10" BLACK BASE, COMPLETE IN PLACE	SY	935	\$124.00	\$115,940.00	\$204.00	\$190,740.00
6	. 6" LIME/FLY ASH STABILIZED SUBGRADE (MANIPULATION), COMPLETE IN PLACE	SY	1092	\$43.00	\$46,956.00	\$19.75	\$21,567.00
7	. HYDRATED LIME FOR STABILIZED SUBGRADE (3% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	9	\$1.00	\$9.00	\$350.00	\$3,150.00
8	. FLY ASH FOR STABILIZED SUBGRADE (7% BY WEIGHT) AS REQUIRED BY SOIL CONDITIONS AND APPROVED BY GEOTECHNICAL ENGINEER, COMPLETE IN PLACE	TON	21	\$1.00	\$21.00	\$125.00	\$2,625.00
9	. 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	86	\$396.00	\$34,056.00	\$495.00	\$42,570.00
10	. SAFETY-END-TREATMENT FOR 30" CULVERT, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	2	\$3,963.00	\$7,926.00	\$5,495.00	\$10,990.00
11	. STANDARD PRECAST INLET, TYPE "D-1", ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$6,795.00	\$6,795.00	\$6,255.00	\$6,255.00
12	. PERMANENT TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, TRAFFIC SIGNS, AND BLACK PAINTED STREET SIGN POLES), COMPLETE IN PLACE	LS	1	\$9,599.00	\$9,599.00	\$18,150.00	\$18,150.00
13	. ALL REQUIRED CONSTRUCTION PERMITS, COMPLETE IN PLACE	LS	1	\$4,699.00	\$4,699.00	\$8,500.00	\$8,500.00
14	. REGRADING OF EXISTING DITCH, INCLUDING DEMUCKING EXISTING DITCH, COMPLETE IN PLACE	LF	625	\$22.00	\$13,750.00	\$19.00	\$11,875.00
15	. HYDROMULCH SEEDING OF PROPOSED DITCH, COMPLETE IN PLACE	AC	1	\$2,200.00	\$2,200.00	\$1,750.00	\$1,750.00
16	. TRENCH SAFETY, COMPLETE IN PLACE	LF	86	\$5.00	\$430.00	\$1.10	\$94.60
SUBTO	TAL KATY HOCKLEY ROAD LEFT TURN LANE ITEMS		> <(		\$383,901.25	_	\$471,055.60
	LANEOUS ITEMS  ADJUSTMENTS TO EXISTING MANHOLES TO NEW FINISHED GRADE, INCLUDES LABOR AND MATERIALS FOR ALL WORK ON STORM AND SANITARY MANHOLES, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	1	\$450.00	\$450.00	\$750.00	\$750.00
2	. EXTRA CEMENT STABILIZED SAND BACKFILL (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	CY	100	\$35.00	\$3,500.00	\$20.00	\$2,000.00
3	. AS-BUILT SURVEY OF ALL PAVEMENT HIGH POINTS, LOW POINTS, AND LOT CORNERS (88 LOTS TOTAL), INCLUDES AN EXHIBIT CERTIFIED BY A REGISTERED PROFESSIONAL LAND SURVEYOR IN THE STATE OF TEXAS, AS WELL AS AN AUTOCAD FILE OF SURVEY, COMPLETE IN PLACE	LS	1	\$5,000.00	\$5,000.00	\$8,500.00	\$8,500.00
4	. TEMPORARY TRAFFIC CONTROL DEVICES (INCLUDES ALL TRAFFIC BUTTONS, PAVEMENT STRIPING, STREET SIGNS, AND TRAFFIC SIGNS), COMPLETE IN PLACE	LS	1	\$30,000.00	\$30,000.00	\$2,750.00	\$2,750.00
5	. CONSTRUCT, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$1,750.00	\$1,750.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

HARRIS COUNTY MUNICIPAL UTILITY DISTRICT NO. 539 CITY OF HOUSTON E.T.J., HARRIS COUNTY, TEXAS FEBRUARY 27, 2025 LIA ENGINEERING, INC. E. MURPHY FEBRUARY 28, 2025 0390-2472 (9.2)

				5) DACO F	PAVING, INC.	6) BEYER CON	STRUCTION, LLC
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
6	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE AND INSPECTIONS, INCLUDING STREET SWEEPING AND CONCRETE WASHOUT, COMPLETE IN PLACE	LS	1	\$10,533.30	\$10,533.30	\$8,500.00	\$8,500.00
7	. EXTRA STREET AND TRAFFIC SIGNS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LS	1	\$900.00	\$900.00	\$750.00	\$750.00
8	. EXTRA 4-INCH STRIPING (ALL COLORS), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$2.00	\$200.00
9	. EXTRA RAISED PAVEMENT MARKER (WHITE OR YELLOW), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	EA	50	\$7.00	\$350.00	\$8.00	\$400.00
10	. EXTRA FILTER FABRIC FENCE (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$1.00	\$100.00
11	. EXTRA HYDROMULCH SEEDING (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$2,200.00	\$2,200.00	\$1,000.00	\$1,000.00
12	. EXTRA BROADCAST SEEDING, FERTILIZING AND WATER, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,200.00	\$1,200.00	\$650.00	\$650.00
13	. 7'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,875.00	\$1,875.00	\$950.00	\$950.00
14	. 10'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$1,925.00	\$1,925.00	\$1,100.00	\$1,100.00
15	. 13'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$2,100.00	\$2,100.00	\$1,250.00	\$1,250.00
16	. 15'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$2,275.00	\$2,275.00	\$1,400.00	\$1,400.00
17	. 18'X8'X8" CONCRETE MAILBOX PAD WITH #3 AT 15" O.C.E.W. OR EQUAL, ON 2" BANK SAND BEDDING (AS DIRECTED BY ENGINEER, LOCATION TBD), COMPLETE IN PLACE	EA	1	\$2,475.00	\$2,475.00	\$1,550.00	\$1,550.00
SUBTOT	TAL MISCELLANEOUS ITEMS			-	\$66,583.30	-	\$33,600.00
BID SUN	MMARY						
PAVING	ITEMS FOR ANNISTON SECTION 17				\$877,515.45		\$969,794.65
KATY HO	OCKLEY ROAD LEFT TURN LANE ITEMS				\$383,901.25		\$471,055.60
MISCELI	LANEOUS ITEMS				\$66,583.30		\$33,600.00
TOTAL A	AMOUNT BASE BID				\$1,328,000.00		\$1,474,450.25